
𝐾1 = 𝑥2 + 𝑦2 + 𝑧2 + 3𝑥 + 𝑦 + 3𝑧 − 3 = 0   

𝐾2 = 𝑥2 + 𝑦2 + 𝑧2 − 𝑥 − 3𝑦 − 𝑧 − 3 = 0  

𝐾3 = 𝑥2 + 𝑦2 + 𝑧2 + 𝑥 + 3𝑦 − 3𝑧 − 3 = 0  

 

{
𝐾1 − 𝐾2 = 0
𝐾1 − 𝐾3 = 0

  

𝐾1 − 𝐾2 = 𝑥2 + 𝑦2 + 𝑧2 + 3𝑥 + 𝑦 + 3𝑧 − 3 − (𝑥2 + 𝑦2 + 𝑧2 − 𝑥 − 3𝑦 − 𝑧 − 3 ) = 0 

4𝑥 + 4𝑦 + 4𝑧 = 0 

𝐾1 − 𝐾3 = 𝑥2 + 𝑦2 + 𝑧2 + 3𝑥 + 𝑦 + 3𝑧 − 3 − (𝑥2 + 𝑦2 + +𝑧2 + 𝑥 + 3𝑦 − 3𝑧 − 3) = 0 

2𝑥 − 2𝑦 + 6𝑧 = 0 

𝑔 {
𝑣1 ≡ 2𝑥 − 2𝑦 + 6𝑧 = 0
𝑣2 ≡ −𝑥 + 3𝑦 − 5𝑧 = 0

  

2𝑎 + (−2𝑏) + 6𝑐 = 0 [1𝑥] 2𝑎 − 2𝑏 + 6𝑐 = 0  

−𝑎 + 3𝑏 − 5𝑐 = 0 [2𝑥] − 2𝑎 + 6𝑏 − 10𝑐 = 0 eleminasi  

 4𝑏 − 4𝑐 = 0 

𝑏 − 𝑐 = 0  

𝑏 = 𝑐  

 

−𝑎 + 3𝑐 − 5𝑐 = 0 

𝑎 = 5𝑐 − 3𝑐 

𝑎 = 2𝑐 

[2𝑐, 𝑐, 𝑐] → [2,1,1] 

Ambil sembarang titik pada garis yaitu(−4,2,2) sehingga persamaan garis pada R3 yaitu: 

𝑔 ≡
𝑥 + 4

2
=

𝑦 − 2

2
=

2 − 2

2
 

 

 

  

 


